Eatone Fullere Rebuilder Bulk Packs

Streamline
ordering
with Rebuilder

Bulk Packs.

CELACT

Fullgr

A

Part ordering and stocking have never been easier than PART NUMBER DESCRIPTION QaTYy
with Eaton Fuller Rebuilder Bulk Packs. These Bulk Packs 14897-BULK420 SPRING, BULK 420
allow high-volume rebuilders to order parts less often and ~ 13953-BULK24 GEAR, COUNTERSHAFT PTO, BULK 2
keep a consistent level of parts always available 16136-BULK28 YOKE (3RD & DIRECT), BULK 28
: 16756-BULK24 REVERSE GEAR, BULK 24
+ Maintain the optimal quantity of parts always on hand. 16757-BULK18 GEAR, REV IDLER, BULK 18
» Reduce forecasting and the need for spot buys. 18922-BULKS56 YOKE, BULK 56
_ _ 19063-BULK18 BLOCK, BULK 18
¢ Decrease your time spent ordermg parts. 19239-BULK42 GEAR, MAIN DR|VE, BULK 4
« Simplify ordering by purchasing all transmission rebuild parts 19549-BULK30 COUNTERSHAFT, BULK 30
from a single supplier. 20323-BULK100 CLUTCH, SLIDING (RANGE), BULK 100
* Maintain genuine Fuller parts...with all the quality and dependability  20380-BULK12 GEAR, COUNTERSHAFT (3RD), BULK 12
your customers associate with the Eaton Fuller name. 20381-BULK12 GEAR, MAINSHAFT (2ND), BULK 12
20382-BULK18 GEAR, COUNTERSHAFT (2ND), BULK 18
20458-BULK36 GEAR, MAIN DRIVE, BULK 36
20482-BULK12 GEAR, COUNTERSHAFT 2ND, BULK 12
20550-BULK50 COVER, FRONT, BEARING, BULK 50
20840-BULK28 GEAR, COUNTERSHAFT PTO, BULK 28
20895-BULK100 COVER, OUTPUT SHAFT, BULK 100
21025-BULK18 GEAR, CTRSHAFT, BULK 18
21264-BULK30 GEAR, CTRSHAFT 2ND, BULK 30
21319-BULK24 GEAR, MAINSHAFT, AUX (REDUCTION), BULK 24
21325-BULK15 MAINSHAFT, AUX, BULK 15
21355-BULK36 BEARING, ROLLER, TAPERED, BULK 36
Nomenclature Example: 21356-BULK24 BEARING, ROLLER, TAPERED, BULK 24
21360-BULK48 CLUTCH, SLG, BULK 48
S-1659 - BULK144 21588-BULKA2 GEAR, COUNTERSHAFT, BULK 7
J | 21654-BULK100 COVER, OUTPUT SHAFT, BULK 100
Base Part Number Bulk Quantity 21898-BULK20 SHAFT, INPUT, BULK 20
21930-BULK36 CLUTCH, SLG, BULK 36
. 22254-BULK168 NUT, FLANGE, HEX (NYLON INSERT) (2.00), BULK 168
Contact your Roadranger representative  21675-8uLks0 INSERT - YOKE PAD, BULK 300
for more information. Continued.

E AT N BACKED BY
=l® Roadranger

Powering Business Worldwide SUPPORT



Eaton® Fuller® Rebuilder Bulk Packs

PART NUMBER DESCRIPTION QTY PART NUMBER DESCRIPTION QTY
22823-BULK24 YOKE, BULK 24 4301750-BULK20 SHAFT, INPUT, BULK 20
230292-BULK750 KEY, WOODRUFF, NO 1210, BULK 750 4301762-BULK24 GEAR, M/S 2ND, BULK 24
23159-BULK24 GEAR, AUX DRIVE, BULK 24 4301764-BULKS GEAR, M/S REV, BULK 8
23653-BULK32 GEAR, M/S REVERSE, BULK 32 4301795-BULK16 GEAR, AUX M-SHAFT REDN, BULK 16
239807-BULK20 SHAFT, INPUT, BULK 20 4301840-BULK100 CLUTCH, SLIDING, BULK 100
241012-BULK20 GEAR, C/S DRIVE, BULK 20 4301851-BULK72 BEARING, ROLLER, BULK 72
241013-BULK24 GEAR, C/S DRIVE, BULK 24 4302041-BULK30 GEAR, MAINSHAFT, AUX (SPLITTER), BULK 30
3315743-BULK16 GEAR, C/S DRIVE, BULK 16 4302047-BULK100 SPACER, GEAR SPLINED, BULK 100
3315745-BULK16 GEAR, C/S 5TH, BULK 16 4302059-BULK15 MAINSHAFT, AUX, BULK 15
3316196-BULK16 GEAR, C/S DRIVE, BULK 16 4302074-BULK72 BEARING, ROLLER C/S, BULK 72
4300035-BULK10 GEAR, BULK 10 4302090-BULK10 GEAR, BULK 10
4300191-BULK28 GEAR, COUNTERSHAFT (OVERDRIVE), BULK 28 4302092-BULK10 GEAR, BULK 10
4300241-BULK36 GEAR, CTRSHAFT 1ST, BULK 36 4302159-BULK100 KEY, INTERLOCK, BULK 100
4300243-BULK15 COUNTERSHAFT, BULK 15 4302276-BULK20 MAINSHAFT, AUX, BULK 20
4300244-BULK15 COUNTERSHAFT, BULK 15 4302381-BULK36 GEAR, MAINSHAFT (OVERDRIVE), BULK 36
4300247-BULK30 GEAR, CTRSHAFT 2ND, BULK 30 4302384-BULK20 GEAR, NO BURN, BULK 20
4300312-BULK15 MAINSHAFT, AUX, BULK 15 4302393-BULK48 GEAR, MAINSHAFT (OVERDRIVE), BULK 48
4300677-BULK8 GEAR, BULK 8 4302394-BULK50 GEAR, MAINSHAFT (2ND), BULK 50
4300828-BULK84 BEARING, ROLLER, BULK 84 4302411-BULK24 GEAR, M-SHAFT, BULK 24
4300830-BULK100 WASHER, BULK 100 4302413-BULK16 GEAR, M-SHAFT, AUX RDCN, BULK 16
4300858-BULK24 GEAR, BULK 24 4302420-BULK36 GEAR, CTRSHAFT 2ND, BULK 36
4300902-BULK63 BEARING, TAPERED ROLLER, BULK 63 4302421-BULK28 GEAR, M-SHAFT 2ND, BULK 28
4300904-BULK15 MAINSHAFT, AUX, BULK 15 4302422-BULK42 GEAR, COUNTERSHAFT (3RD), BULK 42
4300907-BULK144 CLUTCH, SLIDING (SPLITTER), BULK 144 4302427-BULK16 GEAR, MAIN SHAFT, AUX RDCN, BULK 16
4300912-BULK80 SPACER, AUX M-SHAFT, BULK 80 4302435-BULK30 GEAR, AUX DRIVE, BULK 30
4300924-BULK27 CLUTCH, SLG, BULK 27 4302506-BULK30 GEAR, M-SHAFT, BULK 30
4300938-BULK30 GEAR, AUX DRIVE, BULK 30 4302529-BULKA40 GEAR, M-SHAFT, BULK 40
4300940-BULK16 GEAR, M-SHAFT, AUX RDCN, BULK 16 4302652-BULK15 COUNTERSHAFT, BULK 15
4301403-BULK20 SHAFT, INPUT, BULK 20 4302662-BULK42 GEAR, MAIN DRIVE, BULK 42
4301465-BULK24 CUP, SYNC, BULK 24 4302666-BULK40 GEAR, COUNTERSHAFT (DRIVE), BULK 40
4301466-BULK25 CUP, SYNC, BULK 25 4302670-BULK50 GEAR, MAINSHAFT (2ND), BULK 50
4301467-BULK24 CUP, SYNC, BULK 24 4302792-BULK20 GEAR, PUMP DRIVE, BULK 20
4301477-BULK18 GEAR, M/S 5TH, BULK 18 4303033-BULK20 GEAR, M-SHAFT, BULK 20
4301478-BULK24 GEAR, C/S 5TH, BULK 24 4303119-BULK15 COUNTERSHAFT, BULK 15
4301485-BULK20 SHAFT, INPUT, BULK 20 4303120-BULKA40 GEAR, COUNTERSHAFT, BULK 40
4301515-BULK100 COVER, OUTPUT SHAFT, BULK 100 4303121-BULKA40 GEAR, COUNTERSHAFT DRIVE, BULK 40
4301528-BULK24 GEAR, M/S 3RD, BULK 24 4303233-BULK30 GEAR, M/S 4TH, BULK 30
4301529-BULK40 GEAR, M/S 2ND, BULK 40 4303359-BULK24 MAINSHAFT, AUX, BULK 24
4301530-BULK12 GEAR, M/S 18T, BULK 12 4303409-BULK24 GEAR, MAINSHAFT (LOW), BULK 24
4301531-BULK35 GEAR, M/S REV, BULK 35 4303412-BULK24 GEAR, M-SHAFT, BULK 24
4301532-BULK15 MAINSHAFT, BULK 15 4303420-BULK28 GEAR, M-SHAFT 18T, BULK 28
4301628-BULK20 SHAFT, INPUT, BULK 20 4303422-BULK30 SPLITTER GEAR, BULK 30
4301686-BULK24 GEAR, M/S 3RD, BULK 24 4303428-BULK35 GEAR, BULK 35
4301687-BULK24 GEAR, M/S 2ND, BULK 24 4303477-BULK28 GEAR, BULK 28
4301689-BULK28 GEAR, M/S REV, BULK 28 4303497-BULK24 GEAR, BULK 24




Eaton® Fuller® Rebuilder Bulk Packs

PART NUMBER DESCRIPTION QTY PART NUMBER DESCRIPTION QTY
4303620-BULK12 GEAR, BULK 12 4305661-BULK40 GEAR, COUNTERSHAFT (DRIVE), BULK 40
4303649-BULK15 MAINSHAFT, AUX, BULK 15 4305665-BULK40 GEAR, COUNTERSHAFT (DRIVE), BULK 40
4303666-BULK28 GEAR, COUNTERSHAFT (OVERDRIVE), BULK 28 4305879-BULK15 GEAR, C/S, BULK 15
4303701-BULK28 GEAR, MAINSHAFT (1st), BULK 28 4305880-BULK30 GEAR, MAIN DRIVE, BULK 30
4303705-BULK15 MAINSHAFT, AUX, BULK 15 4306033-BULK28 GEAR, C/S, BULK 28
4303737-BULK40 GEAR, CTRSHAFT, BULK 40 4306076-BULK48 GEAR, COUNTERSHAFT, BULK 48
4303774-BULK64 GEAR, PUMP DRIVE, BULK 64 4306520-BULK200 NUT, HEX, FLANGE, CRIMPED, BULK 200
4303796-BULK48 GEAR, M/S 4TH, BULK 48 4306647-BULK 144 CLUTCH, SLG (M/S), BULK 144
4303878-BULK15 COUNTERSHAFT, BULK 15 4306648-BULK 144 CLUTCH, SLG (M/S), BULK 144
4303880-BULK12 GEAR, M-SHAFT, BULK 12 4306649-BULK48 CLUTCH, SLG (M/S), BULK 48
4304001-BULK42 GEAR, M-SHAFT, BULK 42 4306650-BULK112 CLUTCH, SLG (M/S), BULK 12
4304023-BULK100 PLUG, MAGD, 1-1/16 SPL, BULK 100 4307114-BULK40 GEAR, C/S, BULK 40
4304056-BULK36 GEAR, C/S 3RD, BULK 36 4307126-BULK42 GEAR, MAIN DRIVE, BULK 42
4304060-BULK40 GEAR, COUNTERSHAFT (DRIVE), BULK 40 4308397-BULK48 BEARING, ROLLER, BULK 48
4304073-BULK15 COUNTERSHAFT, BULK 15 4308398-BULK72 BEARING, ROLLER, BULK 72
4304084-BULK42 GEAR, AUX DRIVE, BULK 42 4308400-BULK72 BEARINQ ROLLER, BULK 72
4304086-BULK30 GEAR, AUX M-SHAFT SPLIT, BULK 30 4308403-BULK72 BEARING, NEEDLE ROLLER, BULK 72
4304097-BULK48 GEAR, C/S 4TH, BULK 48 4308451-BULK36 BEARING, ROLLER, BULK 36
4304098-BULK55 GEAR, M/S 4TH, BULK 55 4308452-BULK1 12 BEARING,ROLLER, BULK 112
4304317-BULK168 CLUTCH, SLIDING, BULK 168 55508-BULK100 HOSE ASSY, AIR, BULK 100
4304438-BULK28 YOKE, BULK 28 55509-BULK100 HOSE ASSY, AIR, BULK 100
4304491-BULK30 GEAR, CTRSHAFT, BULK 30 55527-BULK100 HOSE ASSY, AIR, BULK 100
4304510-BULK42 GEAR, MAIN DRIVE, BULK 42 55528-BULK100 HOSE ASSY, AIR, BULK 100
4304514-BULK144 GEAR, MAINSHAFT (OVERDRIVE), BULK 144 5556503-BULK24 BEARING, ROLLER, TAPERED, BULK 24
4304539-BULK20 SHAFT, INPUT, BULK 20 5556507-BULK36 BEARING, ROLLER, TAPERED, BULK 36
4304541-BULK20 GEAR, C/S DRIVE, BULK 20 5566505-BULK160 BEARING, BALL, BULK 160
4304542-BULK16 GEAR, C/S 5TH, BULK 16 5566507-BULK18 BEARING, BALL, BULK 18
4304544-BULK24 GEAR, M/S 2ND, BULK 24 5566508-BULK18 BEARING, BALL, BULK 18
4304545-BULK24 GEAR, M/S 18T, BULK 24 5566510-BULK50 BEARING, BALL, BULK 50
4304604-BULK40 KEY, SELECTOR, BULK 40 691445-BULK30 GEAR, AUX M/S SPLIT, BULK 30
4304617-BULK15 MAINSHAFT, BULK 15 81052-BULK72 BEARING, BALL, BULK 72
4304618-BULK28 GEAR, COUNTERSHAFT 0/D, BULK 28 81057-BULK42 BEARING, BALL, BULK 42
4304621-BULK24 GEAR, M-SHAFT, BULK 24 81504-BULK48 BEARING BALL, BULK 48
4304635-BULK40 GEAR, MAIN DRIVE, BULK 40 A-4740-BULK44 FILTER/REGULATOR ASSEMBLY, AIR, BULK 44
4304641-BULK42 GEAR, MAIN DRIVE, BULK 42 A-5000-BULK112 VALVE ASSEMBLY, RANGE SLAVE, BULK 12
4304642-BULK42 GEAR, MAIN DRIVE, BULK 42 A-5156-BULK24 MAINSHAFT ASSY, RANGE, BULK 24
4304750-BULK48 GEAR, MAINSHAFT 0/D, BULK 48 A-5159-BULK12 YOKE ASSY, RANGE, BULK 12
4304765-BULK36 GEAR, COUNTERSHAFT 1ST, BULK 36 A-5160-BULK14 YOKE ASSY, DEEP REDN, BULK 14
4304790-BULK20 GEAR, COUNTERSHAFT, BULK 20 A-5401-BULK48 SYNC ASSY (450/550), BULK 48
4305128-BULK100 COVER, SHIPPING, LUBE SYSTEM, BULK 100 A-5454-BULK44 FILTER/REGULATOR ASSEMBLY, AIR, BULK 44
4305566-BULK20 SHAFT, INPUT, BULK 20 A-5474-BULK12 YOKE ASSY, RANGE, BULK 12
4305575-BULK28 YOKE (3RD & OVERDRIVE), BULK 28 A-5692-BULK42 SYNCHRONIZER ASSY, BULK 42
4305663-BULK42 GEAR, MAINSHAFT, BULK 42 A-5693-BULK24 SYNCHRONIZER ASSY, BULK 24
4305657-BULK20 GEAR, COUNTERSHAFT, BULK 20 A-5721-BULK24 SYNCHRONIZER ASSY, BULK 24
4305659-BULK42 GEAR, MAIN DRIVE, BULK 42 A-6135-BULK24 SYNCHRONIZER ASSY, BULK 24




Eaton® Fuller® Rebuilder Bulk Packs

PART NUMBER DESCRIPTION QTY PART NUMBER DESCRIPTION aTY
A-6136-BULK48 SYNCHRONIZER ASSY, BULK 18 K-4122-BULK48 KIT, HEX FLANGE CRIMPED NUT, BULK 18
A-6154-BULK42 SYNCHRONIZER ASSY, BULK 2 K-4126-BULK50 KIT, FASTENER, BULK 50
A-6156-BULK42 SYNCHRONIZER ASSY, BULK 2 K-4152-BULK56 KIT, BEARING (INPUT SHAFT), BULK 56
A-6188-BULK12 YOKE ASSY, RANGE, BULK 12 K-7051-BULK35 SYNCHRONIZER KIT, BULK 35
A-6224-BULK12 YOKE ASSY, RANGE, BULK 12 $-1659-BULK72 SHAFT ASSEMBLY, INPUT, BULK 72
A-6299-BULK44 SPACER ASSY, BULK 44 $-1794-BULK126 ISOLATOR ASST, BULK 126
A-6340-BULK48 RETAINER ASSY, BULK 18 $-2129-BULK42 SHIFT LEVER HSG ASSY, BULK 42
A-6436-BULK24 COUNTERSHAFT ASSY, BULK 2 $-2130-BULK42 SHIFT LEVER HSG ASSY, BULK 42
A-6473-BULK60 PUMP ASSY, INTEGRAL, BULK 60 $-2501-BULK36 SPEEDO-ROTOR ASSY, BULK 36
A-6608-BULK48 SYNCHRONIZER ASSY, BULK 18 $-2519-BULK42 SHIFT LEVER HSG ASSY, BULK I
A-6756-BULK12 CTRSHAFT ASSY, AUX WELD, BULK 12 $-2688-BULK16 MAINSHAFT ASSY, BULK 16
A-6843-BULK30 COUNTERSHAFT ASSY, AUX, BULK 30 $-2737-BULK15 MAINSHAFT ASSY, BULK 15
A-6909-BULK28 VALVE ASSY, RANGE MASTER, BULK 28 $-2809-BULK30 REAR BEARING COVER ASSY , BULK 30
A-6910-BULK28 VALVE ASSY, RANGE MASTER, BULK 28 $-2822-BULK72 SHAFT ASSEMBLY, INPUT, BULK 72
A-7011-BULK16 YOKE ASSY, SPLIT, BULK 16 $-2842-BULK18 SHIFT BAR HSG ASSY, BULK 18
A-7012-BULK14 YOKE ASSY, SPLT, BULK 14 $-2928-BULK20 INPUT SHAFT ASSY, BULK 20
A-7254-BULK140 SYNCHRONIZER ASSY, LOW SIDE, BULK 140 S$-3108-BULK16 MAINSHAFT ASSY, BULK 16
A-7331-BULK140 SYNC ASSY, AUX DIRECT, BULK 140 X-1-1008-BULK500 NUT, 5/8 - 18 ELS STOP, BULK 500
A-7471-BULK40 LUBE TUBE ASSY, EXTENDED, BULK 40 X12-1207-BULK350 PLUG, PIPE, 3/4 MAGD, BULK 350
A-7934-BULK54 SYNCHRONIZER ASSY, BULK 54 X12-208-BULK1000 PLUG, PIPE, 1/8, BULK 1000
K-1644-BULK20 REPLT KIT, QUILL, BULK 2 X12-802-BULK500 PLUG, PIPE, 1/2, BULK 500
K-1935-BULKG6 REPAIR KIT, SLAVE VALVE, BULK 66 X14-1200-BULK500 BALL, STEEL, 3/4, BULK 500
K-2054-BULK100 0-RING KIT, BULK 100 X14-800-BULK850 BALL, STEEL, 1/2, BULK 850
K-2262-BULK46 0IL SEAL KIT, BULK 16 X-7-1005-BULK500 SCREW, 5/8 - 18 X 1.75, BULK 500
K-2272-BULK10 MAINSHAFT KIT, BULK 10 X-7-1008-BULK500 SCREW, 5/8-18 X 1.00, BULK 500
K-2424-BULK30 VALVE REPLACEMENT KIT, BULK 30 X-7-809-BULK500 SCREW, 1/2 - 20 X 1-3/4, BULK 500
K-2804-BULK100 0-RING KIT-COMPLETE, BULK 100 X-8-0801M-BULK500  SCREW, M8X1.25 X 12MM, BULK 500
K-2808-BULK16 REPLT. KIT-DRIVE GEAR, BULK 16 X-8-423-BULK800 SCREW, 1/4 - 20X 1/2, BULK 800
K-3104-BULK50 ACTUATOR PIN KIT, BULK 50 X-8-645-BULK800 SCREW, 3/8 - 16 X 1, BULK 800
K-3122-BULK27 SPLITTER GEAR UPDATE KIT, BULK 27 X-8-680-BULK600 SCREW, 3/8 - 16 X 1-1/2, BULK 600
K-3128-BULK100 PISTON KIT, BULK 100 X-8-686-BULK300 SCREW, 3/8 - 16 X 3/4, BULK 800
K-3130-BULK90 SHIFT YOKE KIT, BULK 90 X-8-725-BULK450 SCREW, 7/16 - 14 X 7/8, BULK 450
K-3209-BULK40 IDLER SHAFT REPL KIT, BULK 40 X-8C-411-BULK500 SCREW, HEX HD/WASHER ASSY

K-3215-BULK100 S.B. HSG COVER ASSY, BULK 100 (1/4-20 X 1-3/4), BULK 500
K-3245-BULK36 AIR MODULE ASSY, BULK 36 X-8C-412-BULKS00 Dot kA U NER ASSY 500
K-3301-BULK27 GEAR REPLACEMENT KIT, BULK 27 X-8C-830-BULK400 SCREW, HEX HEAD/WASHER ASSY

K-3331-BULK90 SPLITTER VLV REPL KIT, BULK 90 (500-13 X 1.490), BULK 200
K-3367-BULK30 OIL PUMP KIT, BULK 30 X-8L-540-BULK725 SCREW, 5/16 - 18 X 1-7/8, BULK 725
K-3399-BULK100 ISOLATOR BUSHING KIT, BULK 100 X-8L-602-BULK600 SCREW, 3/8 - 16 X 1-1/2, BULK 600
K-3420-BULK16 GEAR UPDATE KIT, BULK 16 X-8L-604-BULK700 SCREW, 3/8 - 16 X 1-1/4, BULK 700
K-3480-BULK16 REPLT. KIT, DRIVE GEAR, BULK 16 X-8L-607-BULK450 SCREW, 3/8 - 16 X 2-1/4, BULK 450
K-3682-BULK34 RANGE VALVE KIT, BULK 3 X-8L-631-BULK300 SCREW, 3/8 - 16 X 3-1/2, BULK 300
K-4001-BULK20 SYNCHRONIZER KIT, BULK 20 20

EF.T-N

Powering Business Worfdwide

BACKED BY

Roadranger

SUPPORT

For spec’ing or service assistance,
call 1-800-826-HELP (4357) or visit
www.eatononlineparts.com.

In Mexico, call 001-800-826-4357.
Roadranger: Eaton and trusted partners

providing the best products and services in the
industry, ensuring more time on the road.

Eaton

Vehicle Group

13100 E. Michigan Ave.
Galesburg, MI 49053 USA
800-826-HELP (4357)
www.eatononlineparts.com

© 2020 Eaton

All Rights Reserved. Printed in USA.

APSL0150 0320

Note: Features and specifications listed in
this document are subject to change without
notice and represent the maximum capa-
bilities of the software and products with all
options installed. Although every attempt
has been made to ensure the accuracy of
information contained within, Eaton makes
no representation about the completeness,
correctness or accuracy and assumes no
responsibility for any errors or omissions.
Features and functionality may vary depending
on selected options.

Eaton, Fuller, Roadranger, Solo, UltraShift and
Fuller Advantage are registered trademarks of
Eaton. All trademarks, logos and copyrights
are those of their respective owners.



